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Catholic High School (Primary)
Primary 3 Mathematics 2024
Weighted Assessment 2

NAME : ( ) DATE:
CLASS

PARENT'S SIGNATURE : 25

Section A
Questions 1 to 4 carry 2 marks each. FFor each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4)

and write your choice in the bracket-provided. All diagrams are not drawn
to scale. (8 marks)

1. Which of the following has the same value as 6 x 77?

(1) 7+7+7+7+7+7
2) 6+6+6+6+6+6
B) 7x7x7x7x7x7
(4) 6x6x6X6Xx6x6 ( )

2. Multiply 187 by 5.

(1) 505
(2) 535
(3) 935
4) 906 ( )
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3. John bought a volleyball for $35 and a basketball for $27. How
much did John pay for both items?

D B

Volleyball Basketball
$35 $27
(1) $8
(2) $12
(3) %52
(4) $62 ( )
4. Janet baked 56 cupcakes. She baked 7 times as many cupcakes

as Anne. How many cupcakes did Anne bake?

(1) 6

(2) 8

(3) 49

(4) 63 (

2 (Go on to the next page)
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. Do not write
Section B i his space
Question 5 carries 1 mark. Questions 6 to 10 carry 2 marks each.
Show your working clearly and write your answers in the spaces
provided. For questions which require units, give your answers in the
units stated. All diagrams are not drawn to scale. (11 marks)
5. Find the product of 4 and 9.
Ans:
6. Henry bought a cup which cost $7.35. He gave the cashier a
$10 note. How much change did Henry receive?
Ans: §
3 (Go on to the next page)
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7. James has 794 cookies. He packs all the cookies equally into lDO‘ &:‘Wﬂ'te
3 boxes. After packing the cookies, how many cookies are left| " " “P2®
unpacked?

Ans:

8. When a number is divided by 4, the quotient is 3 and the
remainder is 2. What is the number?

7
Ans:
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The bar graph shows the number of Primary 4 pupils who enjoy | 2257
reading. Use the information provided to answer questions 9 and 10.
Primary 4 pupils who enjoy reading
22
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Primary 4 classes
@mBoys OGirls
9. How many fewer boys than girls in Class 4B enjoy reading?
Ans:
10.  Which 2 classes have the same total number of pupils who
enjoy reading?
Ans: Class and Class
5 (Go on to the next page)
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Section C Do not write

in this space
For Questions 11 to 12, show your working clearly and write your "
answers in the spaces provided. The number of marks available is
shown in brackets [ ] at the end of each question or part-question. All
diagrams are not drawn to scale. (6 marks)

11.  Jerry had 351 stickers. He gave away 45 stickers. He packed
the rest equally into 6 packets. How many stickers did he put
into each packet?

Ans: [3]

6 (Go on to the next page)
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12. Benny and Calvin had 54 bottles altogether. Benny had gc’tg:‘;’;gi
2 times as many bottles as Calvin. Calvin bought another 47
bottles. How many bottles did Calvin have in the end?

Ans: [3]

END OF PAPER
7
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